No.006
% 1E 06

_fM_F KA
<ZHEADEEI >
M1 kKoOXZEHALRSW, (EE)
@ (x—3)(y+5) @ (a+1)(b—4) ® (a——b)(x—y)
= AEABY-S = ab-4648-4  =ax—aY-bx+4y

@ (x+1)(x—7) ® (x+3)(x+4) ® (x—2)(x—3)
== x-Y = XHAAEIXA? = X=3DA 44
= o0t —7 = X2 = X=0A+4

@ (x+2)(x-5) (x-3)(x+8) © (x+4)(x+6)
= X=X~/ b :;(l+81—31-)¢ - DCZ:H{I(_‘(—ﬁ—)(‘F_é([
=X /o = o+ TN & =X 340X +IO¢

<FEEAHR1>

, 2
x+a)(x+b :x2+_a—\|l,—b x+c§)
(x+Q)(x+B) =" +(ax

M2 WoXEZEBELREWN,
) (x—3)(x+5) ® (x+1)(x—4) ®(x—3)(x—5)

= BN & xR (- = XHFHXA/T
= X220~/ 8 =x = D¢ TX O

® (x+2)(x+7) © (x+3)(x=3) © (x—2)(x+2)
= AHQAH Y S XHC-DEF = X
=X Xty =x=9 =L

@ (y+4)(y—7) (a=3)(a=2) © (b+5)(p+8)
=9%@DY08 cov@ua+d = GEefrd o
=939 —prtatd =%y dtqo
(x+4)(x+4) @ (x—3)(x—3) @ (x+5)2
= G A =XREIT o 2 () T
= X+ § X6 Ul = X Oy



